
GT3 “Smile” Vent Kit, Installation Kit, and Wire Mesh Kit 

READ BEFORE INSTALLATION
The use of any Rennline product is the sole responsibility of the end user. Rennline Inc. accepts no responsibility for 

warranty voids or damage resulting from the use of these products. Due to the varying location of wiring harnesses and 
other components, carefully inspect any area prior to drilling. All Rennline products are intended for off road use only and 

should be installed by a qualified automotive technician.

Check to make sure you have all parts listed prior to 
installation. If anything is missing contact us immediately.

P/N -  

2005 & Newer
997/987

 

1. Remove the bumper cover from car.
2. Tape the grill area o� using painters tape or equivalent.
3. Mount the cut �xture to the bumper cover using the supplied (7) truss head screws. Verify that the �xture is centered on the bumper cover and the center position tab is  
aligned with the top edge of the bumper cover prior to mounting.
4. Drill the bumper cover through the (10) holes in the �xture using a drill bit large enough for your saw blade to �t through. 
5. Using a jig saw cut the bumper cover by following the pattern in the �xture.
6. Remove the �xture and cut the small taps holding the cutout in place. 
7. Clean the edges  with a �le or equivalent removing and burr’s that the saw may have left.
8. Remove the tape from the bumper cover.
9. Install the grill into the bumper cover.
10. Flip the bumper cover over and install the vent brackets, If you are installing the wire mesh kit, place the grill on top of the vent brackets and use the straps and screws 
that came with your mesh kit to sandwich the grill between the straps and the vent brackets. The (2) end attachment points use the (2) supplied washers to secure the 
mesh.  
11.  Do not tighten the screws at the this time, install all of them and leave them a bit loose.
12. Place your hand on the bumper surface above each bracket and slowly tighten the screws, making sure that you do not distort the bumper cover by applying too
much pressure. If required, you may need to slightly bend the brackets to adjust the pressure.
13. Reinstall the bumper cover. 

Order Online: WWW.RENNLINE.COM
EM Orders@rennline.com

PH 802.893.7366
FX 802.893.7311

Date        /      /   E90 05  05 11

E90 Vent Kit 
(1) Porsche GT3 Grill  P/N 997.575.327.90.01c
(3) Bracket “A” w/ foam pad
 (6) Foam pads applied
(2) Bracket “B” w/foam pad
 (2) Foam pads applied
(8) 1/2 X #6 Pan head screw  MC92470A148

E90 Installation Kit
(1) Cut Fixture
(7) 5/8 x #8 Truss head screw  MC93406A196

E90 Wire Mesh Kit
(1) Screen
(3) Straps
(2) #6 S/S Washers
(8) .75” X #6 S/S Pan head screw MC92470A151

Installation video is available for this product at www.rennline.com


